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A J A Time allowed: 20 mmutes Closed books, closed notes. Calculator and equation sheets allowed.
J v G Show clearly all steps, including units and assumptions.

PROBLEM 1 .
The leaf blower shown operates steadily and
discharges air at the exit \!/elocity of 180 ft/s.
Assuming that the discha:rge pipe is of constant
diameter with f = 0.02, that the minor losses at
the blower inlet are Kj,e: = 1.3 and that the air
- density is p = 0.0735 Ibm/ft, (A): Estimate the

ﬁ} total pressure increase across the blower; (B):

i %& Estimate the motor power (in HP) if the blower
efficiency is 75%. Note: 1HP =550 ft-Ibf/s.

When writing the energy equation, clearly define the end points.
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